
Backerz

Backerz.com

Instruction manual
Gebrauchsanweisung
Manuel d’instruction

Handleiding

Office
Chair



NL: WAARSCHUWING! 

Lees de volledige handleiding zorgvuldig door voordat u dit product monteert 

en/of gebruikt. Volg de handleiding zorgvuldig en bewaar deze voor toekomstig 

gebruik. Is het product beschadigd of missen er onderdelen neem dan direct 

contact op met de klantenservice.

*Controleer het draagvermogen van de stoel en zorg ervoor dat u hem niet 

overbelast om letsel en schade te voorkomen. Max 126KG en max 1 persoon

*Zorg ervoor dat de stoel op een vlakke ondergrond staat.

*Ga niet op de stoel staan.

*Alleen voor gebruik binnenshuis.

*Alleen gekwalificeerde personen mogen het product onderhouden. Probeer het 

product niet te repareren als u niet gekwalificeerd bent. Neem contact op met 

onze klantenservice voor meer informatie over reparaties en garantie 

*Houd het product buiten het bereik van kinderen. Vooral tijdens de montage, 

omdat kleine stukjes verstikkingsgevaar kunnen veroorzaken

FR: Attention !

Lisez attentivement l'intégralité du manuel avant d'installer et/ou d'utiliser ce

produit. Suivez attentivement le manuel et 

conservez-le pour toute référence ultérieure. Si le produit est endommagé ou si 

des pièces sont manquantes, veuillez contacter 

le service clientèle immédiatement.

*Veuillez vérifier la capacité de charge de la chaise et assurez-vous de ne pas la 

surcharger pour éviter toute blessure ou dommage. Maximum 

126kg et maximum une personne

*Assurez-vous que la chaise soit positionnée sur une surface plane

*Ne vous tenez pas debout sur la chaise

*Pour un usage intérieur uniquement

*Seules les personnes qualifiées peuvent procéder à l’entretien du produit. 

N’essayez pas de réparer si vous n’êtes pas qualifié. Contactez notre 

service clientèle pour plus d’informations concernant les réparations et la garantie

*Gardez le produit hors de portée des enfants. Surtout pendant l’assemblage, 

car les petites pièces peuvent présenter un risque d’étouffement.

Languages and warnings

Backerz.com

In this manual we explain how you can assemble the office chair as quick and easy as possible. We have
printed it in most languages of the countries that we sell in. We printed it in:

- English
- German
- Dutch
- French

For the languages not printed in this manual such as 
Spanish, Italian, Polish and Swedish you can scan the 
QR code below for the online manual: 

EN: Warning!

Read the entire manual carefully before installing and/or using this product. 

Follow the manual carefully and keep it for future reference. If the product is 

damaged or any parts are missing, please contact customer service immediately.

*Please check the chair’s load capacity and make sure to not overload it to avoid 

injury and damage max. 126KG and max. 1 person

*Make sure the chair is on a flat surface.

*Do not stand on the chair.

*For Indoor use only 

*Only qualified people can proceed with product maintenance. Do not attempt 

to repair if you are not qualified. Contact our customer service for more 

information regarding repairs and warranty

*Keep the product out of reach of children. More so during assembly as small 

pieces might cause choking hazards

DE: ACHTUNG!

Lies die gesamte Gebrauchsanweisung sorgfältig durch, bevor du dieses Produkt 

montierst und/oder verwendest. Befolge die Anweisungen sorgfältig und bewahre 

das Handbuch zum späteren Nachschlagen auf. Wenn das Produkt beschädigt ist 

oder Teile fehlen, wende dich bitte sofort an den Kundenservice. 

*Überprüfe die Tragfähigkeit des Stuhls und stelle sicher, dass du ihn nicht 

überlastest, um Verletzungen und Schäden zu vermeiden. Max 126KG und 

Max. 1 Person 

*Stelle sicher, dass der Stuhl auf einer ebenen Fläche steht

*Stelle dich nicht auf den Stuhl 

*Nur für den Innenbereich geeignet 

*Nur qualifizierte Personen sollten das Produkt warten. Versuche nicht, das 

Produkt zu reparieren, wenn du nicht qualifiziert bist. Wende dich an unseren 

Kundenservice, um weitere Informationen zu Reparaturen und Garantie zu erhalten 

*Warnung: Bewahre das Produkt außerhalb der Reichweite von Kindern auf. 

Insbesondere bei der Montage, da kleine Teile eine Erstickungsgefahr darstellen 

können.



 

 
  

Office Chair Manual

Package includes:

Follow these steps

Step 2

Now get the gas lift (C) and put it into the centre hole
it will fit automaticly and it will be 
pushed in firmly when you sit on
it, the longer you sit on it the 
harder it gets to get it out.

Step 3

Now take the armrests (E) and
take the 6 screw (F). 
Lastely take the Allen 
wrench that fits the 
screw and attatch 
the armrests to the
seat (D), make sure
the armrests are 
correctly placed. 
�e curved part 
facing outside.

Step 4

Now take the adjustment system
(H) and place it on the seat (D).
Take the 4 screws (I) and with 
the washers (J) attatch the 
adjustment system to the
seat by screwing them in.

Step 1

Before you begin unpack everything and lay it out 
on the floor or a table. �en grab the 5 wheels (B)
and attatch them onto the
base (A) by pushing the
pin in the hole.

EN

A

B

C

F

D
E

I

J

H

1A
5B
1C

D 1

M6x35

8*20*2

E 2

F 6

G 3

H 1

I 4

M6x40

5mm

J
1K

1

L

1

M

2

N

1

O

8*17*1.2 4

M8x20
3

P
Q

M6x45

2



 

 
  

Office Chair Manual

Step 6

Now your chair is almost finished. 
You can put the seat on the base 
by slowly placing the hole in your
seat over the gaslift. 

Make sure there is no cap on the
gas lift.

 

Step 7

If you like to use the headrest (M) including the clothes hanger (N) 
then take the 2 screws (O) and put everything together in order.
First the headrest, then the clothes hanger and finaly screw these
together, everything should fit easily together.

To finish it of take the two caps (P) and push them in the holes.

If you do not want a clothes hanger you can leave it in the process.

Step 5

At last take the backrest part (K) and attatch it
to the seat (D). Use screws (L) and washers (G)
for doing this. We normally advise customers to
use a table and lay the seat on the table up side 
down while screwing the backrest on the seat,
it makes it easier to do and hold on to 
everything at once. 

L

G

K

O

M

N

P

If there are any questions during the assembly process, please contact us at contact@backerz.com

We got your back!

Redefining seating
one happy back

at a time

Backerz

NEN - EN 1335
Certi�ed



 

 
  

Bureaustoel Handleiding

Onderdelen

Volg deze stappen

Stap 2

Pak nu de veer (C) en stop deze in het gat 
in de voet. Het past heel makkelijk en 
zal steviger gaan zitten naarmate je
langer op de stoel zit. Hou hier
rekening mee mocht je hem
mogelijk willen retourneren. 

Stap 3

Pak nu de armleuningen (E) en
de 6 bouten (F).
Als laatste pak je de 
inbussleutel die bij de
bout maat past en
schroef je het vast
aan de onderkant van
de zitting (D). Hou er 
rekening mee dat de
bolling van de 
armleuning naar de
buitenkant wijst. 

Stap 4

Schroef nu het verstel 
systeem (H) met 4 boutjes (I)
en de bijpassende revetten (J)
vast aan de onderkant van 
de zitting (D).

Stap 1

Voordat je begint raden we je aan om alles uit te 
pakken en neer te leggen op de grond of op tafel.
Check vervolgens of alles 
compleet is. Pak dan de 5
wielen (B) en duw ze in de
gaten van de voet (A).

NL

A

B

C

F

D
E

I

J

H

1A
5B
1C

D 1

M6x35

8*20*2

E 2

F 6

G 3

H 1

I 4

M6x40

5mm

J
1K

1

L

1

M

2

N

1

O

8*17*1.2 4

M8x20
3

P
Q

M6x45

2



 

 
  

Bureaustoel Handleiding

Stap 6

Nu is je stoel bijna klaar voor gebruik!
Pak het frame op en zet het rustig op
de voet. Dit doe je door het gat in de
onderkant van je verstelsysteem op
de gasveer te zetten.

Zorg ervoor dat er zeker geen plastic
kapje over de veer heen zit als je de
stoel op de veer plaatst.

 

Stap 7

Als je je hoofdsteun en klerenhanger wil gebruiken schroef je deze 
nog op de stoel. Dit doe je door de hoofdsteun (M) en klerenhanger (N) 
in de juiste volgorde vast te schroeven.  Eerst de hoofdsteun en dan
de klerenhanger. 

Vervolgens kan je de twee dopjes (P) in de twee gaten duwen om 
het gehaal af te werken.

Mocht je de klerenhanger liever niet willen monteren dan kan je 
deze weglaten.

Stap 5

Het laatste wat je moet doen is het vastschroeven 
van de rugleuning (K) aan de onderkant van de
zitting (D). Dit doe je met de bouten (L) en de
revetten (G). 

We adviseren dit te doen door het kussen eerst 
op zijn kop op de tafel te leggen. Zo is het
makkelijker om alles vast te houden en tegelijk
de bouten aan te draaien.

L

G

K

O

M

N

P

Mochten er tijdens het montageproces vragen zijn, neem dan contact met ons op via contact@backerz.com

We got your back!

Redefining seating
one happy back

at a time

Backerz

NEN - EN 1335
Certi�ed



 

 
  

Das Paket enthält

Bürostuhl Anleitung

Folge diesen Schritten

Schritt 2

Nimm nun den Gaslift (C) und stecke 
ihn in das mittlere Loch. Er passt 
automatisch und wird fest 
eingedrückt, wenn du darauf 
sitzt. Je länger du darauf sitzt, 
desto schwieriger wird es, ihn 
wieder herauszubekommen.

Schritt 3 

Nimm nun die Armlehnen (E) 
und nimm die 6 Schrauben (F).
Nimm schließlich den zur
Schraube passenden 
Inbusschlüssel und 
befestige die Armlehnen
am Sitz (D). Der gebogene
Teil zeigt nach außen.

Schritt 4

Nimm nun das 
Verstellsystem (H) und setze 
es auf den Sitz (D). Nimm die 
4 Schrauben (I) und befestige 
mit den Unterlegscheiben (J) 
das Verstellsystem am Sitz 
`durch Eindrehen.

Schritt 1

Bevor du loslegst, packe alles aus und lege es auf dem 
Boden oder auf einem Tisch aus. 
Dann nimm die 5 Räder (B) 
und befestige sie auf dem 
Sockel (A), indem du 
den Stift in das Loch 
schiebst.

A

B
C

F

D
E

I

J

H

1A
5B
1C

D 1

M6x35

8*20*2

E 2

F 6

G 3

H 1

I 4

M6x40

5mm

J
1K

1

L

1

M

2

N

1

O

8*17*1.2 4

M8x20
3

P
Q

M6x45

2

DE



 

 
  

Bürostuhl Anleitung

Schritt 6

Jetzt ist dein Stuhl fast fertig. Du 
kannst den Sitz auf die Basis setzen, 
indem du das Loch in deinem Sitz 
langsam über den Gaslift setzt. 

Vergewissere dich, dass keine Kappe 
auf dem Gaslift ist.

 

Schritt 7

Wenn du die Kopfstütze (M) inklusive Kleiderbügel (N) 
verwenden möchtest dann nimm die 2 Schrauben (O) 
und baue alles der Reihe nach zusammen. Zuerst die 
Kopfstütze, dann den Kleiderbügel und zum Schluss 
die Schrauben verschrauben, alles sollte leicht 
zusammenpassen. 

Zum Schluss nimmst du die beiden Kappen (P) 
und schiebst sie in die Löcher. 

Wenn du keinen Kleiderbügel möchtest, kannst du 
ihn auch weglassen.

Schritt 5

Zum Schluss nimmst du das Rückenlehnenteil (K) 
und befestigst es mit dem Sitz (D). Verwende 
dazu Schrauben (L) und Unterlegscheiben (G). 

Normalerweise raten wir unseren Kunden, einen 
Tisch zu benutzen und den Sitz mit der Oberseite 
nach unten auf den Tisch zu legen, während sie 
die Rückenlehne an den Sitz schrauben. Das macht 
es einfacher, alles auf einmal festzuhalten.

L

G

K

O

M

N

P

Sollten während der Montage Fragen auftauchen, kontaktiere uns bitte unter contact@backerz.com

We got your back!

Redefining seating
one happy back

at a time

Backerz

NEN - EN 1335
Certi�ed



 

 
  

Instructions pour la chaise de bureau

Suivez ces étapes

Le paquet contient

Étape 2

Prends maintenant l’élévateur à gaz (C) 
et insère-le dans le trou central. 
Il s'adapte automatiquement et 
s'enfonce fermement lorsque tu 
es assis dessus. Plus tu t'assois 
dessus, plus il sera difficile de 
le retirer.

Étape 3

Prends maintenant les 
accoudoirs (E) et les 
6 vis (F). Enfin, prends la 
clé Allen correspondant 
à la vis et fixe les 
accoudoirs au siège (D). 
La partie courbée est 
dirigée vers l'extérieur.

Étape 4

Prends maintenant le 
système de réglage (H) et 
place-le sur le siège (D). 
Prends les 4 vis (I) et fixe
le système de réglage au 
siège à l'aide des 
rondelles (J) en vissant. 

Étape 1

Avant de commencer, déballe tout et étale-le 
sur le sol ou sur une table. 
Ensuite, prends les 5 
roues (B) et fixe-les sur 
le socle (A) en glissant 
la tige dans le trou.

FR

A

B

C

F

D
E

I

J

H

1A
5B
1C

D 1

M6x35

8*20*2

E 2

F 6

G 3

H 1

I 4

M6x40

5mm

J
1K

1

L

1

M

2

N

1

O

8*17*1.2 4

M8x20
3

P
Q

M6x45

2



 

 
  

Instructions pour la chaise de bureau

Étape 6

Maintenant, ta chaise est presque 
prête. Tu peux placer le siège sur la 
base en plaçant lentement le trou 
de ton siège au-dessus de l’élévateur 
à gaz.

Assure-toi qu'il n'y a pas de capuchon 
sur l’élévateur à gaz

 

Étape 7

Si tu veux utiliser l'appuie-tête (M) avec le cintre (N), 
prends les 2 vis (O) et assemble le tout dans l'ordre. 
Visse d'abord l'appui-tête, puis le cintre et enfin les vis, 
tout devrait s'emboîter facilement. 

Pour finir, prends les deux capuchons (P) et glisse-les 
dans les trous. 

Si tu ne veux pas de cintre, tu peux aussi le laisser de côté.

Étape 5

Pour finir, prends le dossier (K) et fixe-là au siège (D). 
Utilise pour cela des vis (L) et des rondelles (G). 

En général, nous conseillons à nos clients 
d'utiliser une table et de poser le siège à l'envers 
sur la table pendant qu'ils vissent le dossier sur 
le siège. Il est ainsi plus facile de tout maintenir 
en place en une seule fois.

L

G

K

O

M

N

P

Si tu as des questions pendant le montage, n'hésite pas à nous contacter à l'adresse suivante : contact@backerz.com

We got your back!

Redefining seating
one happy back

at a time

Backerz

NEN - EN 1335
Certi�ed



Backerz is a registered trademark from Ella Health B.V.

Jan Scharpstraat 17, 5014 RB Tilburg, Nederland

Info@backerz.com   -    Backerz.com

All rights reserved. © Ella Health B.V.

Backerz


